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1 KB B T 1 2 3 1
2 kiR OB 6 4 1 5 5
3 ki H’j 4 3 3 4 4
4 kE = 3 6 6 2 3
5 Mg BZ 2 2 5 1 2
6 EkkE EEh 5 5 4 6 6
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1 KB B T 1 1 3 1
2 kiR B 6 3 2 5 6
3 {kiE B 2 2 4 2 5
4 BE £ 5 4 6 4 2
5 Mg BZ 3 5 3 1 4
6 EikkE EEh 4 6 5 6 3
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1 KB B 2 1 3 4 1
2 kiR B 5 5 1 5 6
3 {kiE B 3 3 4 3 4
4 BE £ 6 4 5 2 2
5 Mg BZ 1T 2 2 1 3
6 #ikkE EEh 4 6 6 6 b5
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3 ki n 2 2 4 1 6
4 BE £ 6 4 6 3 4
5  #KIEF %.x— T 1 3 2 1
6 #ikkE EEh 5 5 5 6 2
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1 KB B 2 2 2 2 3
2 kiR OB 5 4 1 4 6
3 ki 1T 1 4 3 1
4 HE = 6 3 6 5 4
5 Mg BZ 3 6 3 1 2
6 EikkE EEh 4 5 5 6 5
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1 KA B 1.0 1.0 2.0 3.
2 kB BB 5,0 5.0 5.0 5.
3 kB B3 40 2.0 3.0 2
4 %E £ 3.0 40 4.0 4
5 Ml BZ 2.0 3.0 1.0 1.
6 EitkE Esh 6.0 6.0 6.0 6.
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